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Example
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Example

What is the probability of an individual having tuberculosis given the DNA test is negative? 
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What is the probability of a GFI switch from a selected spa is from company 1 given that it is defective?





Draw two even numbered cards without replacement.





What is the probability of a GFI switch from a selected spa is from company 1?
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Draw three odd numbered red cards with replacement.





Drawing three face cards with replacement.
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Multiplication Rule Practice
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Example 





Drawing two aces with replacement.





Multiplication Rule Practice





What is the probability of a GFI switch from a selected spa is defective?
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What is the probability of a GFI switch from a selected spa is defective and from company 1?





Draw 5 reds cards without replacement.





Multiplication Rule Practice
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defective?

2. One exciting aspect of increased communication using the Internet is that diverse individuals fic
widely scattered places all over the world can form an electronic chat room. A side effect of sus
conversation is negative criticism of others” contributions to the conversation. Investigators are
interested in the effect that personal criticism has on an individual. Would being criticized mak:
more likely to criticize others?

&=
Have Been Have Not Been
Personally Criticized | Personally Criticized
Have Criticized Others 19 8
Have Not Criticized 23 143
Others

‘We will assume that the table from the article is indicative of the larger group of chat room user
Suppose that a chat room user is randomly selected. Let C= event that the individual has critici
others and let O = event that the individual has been personally criticized by others.

‘Write the following events out in words and then solve the probability.
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